
Solutions	:		
les	courses	:	«	Pile	à	l’heure	»	

Niveau	1	:	
5km	c’est	5	fois	plus	que	1000	m.	
Donc,	Céline	et	Tom	mettront	donc	5	fois	plus	de	temps.	
Céline	mettra	50mn.	
Tom	mettra	25mn..	
	

Tom	devra	partir	à	9h25	
	
Niveau	2	:	
5km	c’est	50	fois	plus	que	100	m.	
Donc,	Céline	et	Tom	mettront	donc	50	fois	plus	de	temps.	
Céline	mettra	50mn.	
Tom	mettra	25mn.	
	

Tom	devra	partir	à	9h25	
	
Niveau	3	:	
5km	c’est	50	fois	plus	que	100	m.	
Donc	Céline,	Jules	et	Anaïs	mettront	50	fois	plus	de	temps.	
Céline	mettra	50mn.	
Jules	mettra	25mn.	
Anaïs	mettra	20mn.	
	

Jules	devra	partir	à	9h25	
Anaïs	devra	partir	à	9h30	

	
Niveau	4	:	
5km	c’est	50	fois	plus	que	100	m.	
Donc	Céline,	Jules,	Tom	et	Anaïs	mettront	50	fois	plus	de	temps.	
Céline	mettra	30mn.	
Jules	mettra	25mn.	
Anaïs	mettra	20mn.	
Tom	mettra	50mn.	
	

Jules	devra	partir	à	9h05	
Anaïs	devra	partir	à	9h10	
Tom	devra	partir	à	8h40	

	


